FALFEA T LA VD HEFRRURRE D 1 R B AY0.12ppm L _E D B D

(Bif:H)

(X ) BT 4% BIER% ik 6| FmR 7| Frk 8| Fm 9| FERRI10|Fm11| FEm12| Fm13| FR14| k15| Fm16| FEr17|Fm18| FEa19| Fm20
AERHERERBRE ER#NII 2 3 0 0 1 1 3 2 0 0 1 0 3 0 0
KRERHLTERX L FEX &P 0 1 0 0 6 0 7 4 1 1 2 3 3 1 2
ABRHdEE)IX TEHR R 5 1 0 0 2 2 1 2 1 2 0 2 2 1 0
ABrRHE)IR )R &R 3 1 0 0 0 1 1 1 2 2 0 3 2 0 1
AERHAEEFX B LU A 3 2 0 0 0 2 3 0 1 1 3 4 3 0 2
RERHERX RE R 5 4 5 3 4 2 6 6 7 3 5 3 9 1 3
KRR ER BEBNER 7 4 1 0 6 3 10 2 5 3 3 4 4 1 0
KEEmEFEZIR BTN 4 0 0 0 3 1 3 1 0 2 4 4 3 0 2
AR FEEHX EEhER 5 4 2 1 4 3 9 4 5 2 4 5 4 2 1
RERT PR X 5B RER 1 1 0 0 1 1 1 1 0 0 0 0 1 0 0
KERHFERX P INERR 1 0 0 0 3 0 5 2 2 1 0 1 1 0 0
AEHERX KA 5 5 3 2 2 1 4 2 2 0 1 4 11 2 2
AIRTRER PR 1 1 0 0 2 1 4 2 1 1 2 1 2 0 0
KEEM{E IR EEPRNE - - — — — 0 1 0 0 1 1 0 1 0 1
RHIRX DI 4 2 0 0 9 3 1 2 0 1 0 1 0 1 0
WX EF 1 1 1 0 6 1 1 2 1 1 3 3 2 0 2
WHAEX aE 3 0 0 0 0 2 4 1 0 2 1 1 1 0 1
B/t £ 7 2 0 0 9 4 5 2 3 3 3 2 1 3 0
IRIRX =F 0 0 0 0 1 1 2 1 0 0 2 1 2 0 0
Fhmx HE 7 2 4 1 7 7 16 10 6 7 7 6 10 5 3
BHER BER 11 3 1 2 17 3 15 7 4 9 6 8 10 6 2
RhERX s 5 1 1 1 16 2 13 3 1 6 3 5 2 4 —

WX i 8 2 0 0 7 5 4 4 3 5 5 5 4 2 1
BHERRX e — — — — — — — — — — — — — — 1
el FEHMBERRAR — — — 0 4 2 4 0 3 0 2 1 2 3 2
=il /N 2 0 1 — — — — — — — — — — — —

= ¥ H 9 6 0 5 5 1 7 2 4 2 9 2 0 0 —

Ll Tk 3 3 1 0 4 1 4 0 0 0 0 0 2 0 0
MET™H METILEASEE 4 1 0 0 1 2 5 0 1 0 1 0 1 0 1
W A WA EK 8 3 0 0 0 0 8 2 7 2 2 2 6 0 0
e E wHE AL EE 11 11 5 1 16 6 16 3 9 2 6 6 11 6 2
WwHEH wHE)IE 7 7 3 0 0 0 0 0 1 0 1 0 0 0 0
RREM RRKEFREREISY 0 0 1 0 1 2 1 1 0 0 — — — — —

RKEH RAETER 5 1 2 0 0 1 0 0 0 0 2 0 1 0 2
=t S 3 0 0 0 8 3 10 4 4 1 10 2 6 1 0
= =5t 5 1 1 0 5 2 3 1 0 0 6 3 0 0
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HALFEA T F LD HEFE(RRE D 1 BRE{ENY0.1200m L LD B D) (B B)
(X ) BT 4% BIER% ik 6| FmR 7| Frk 8| Fm 9| FERRI10|Fm11| FEm12| Fm13| FR14| k15| Fm16| FEr17|Fm18| FEa19| Fm20
HIEM BIEWEE 2 0 1 1 7 3 0 1 1 0 2 0 4 5 3
AT SFORERT 3 2 0 0 2 1 5 1 0 0 0 0 2 0 0
AT E—AER(EH) 3 2 0 0 0 0 3 0 1 0 0 0 0 0 0
SO F_AERCKA) 4 1 0 0 2 0 3 0 1 0 0 0 0 0 0
SFOTH FEZRAER(8R) 13 0 1 0 1 0 3 0 0 0 0 0 0 0 0
wAH ES 0 0 2 0 5 0 3 1 0 1 3 1 0 0 0
WAEH WA 5 1 0 0 6 1 4 1 0 0 6 1 0 1 0
WA EX /N 1 1 1 0 4 0 5 0 0 3 38 5 1 2 0
WA™ F8 5 1 0 0 5 2 5 0 0 0 4 0 0 0 0
KA KA 3 4 0 0 0 0 0 0 0 0 1 1 0 0 0
J\EH I\EGRER 4 1 0 0 8 1 3 0 1 1 0 0 3 1 0
RIEHH RN 0 0 0 — — — — — — — — — — - -
RIEBH b RIEEF — — — 1 8 — — — — — — - - — —
REHFTH D FER — — - - — 3 6 1 0 2 3 1 2 1 0
RIEFT RIEFHEA 2 0 0 0 4 3 2 1 0 — — — — — —
=BT EHATEHR 13 4 5 4 5 3 12 12 6 15 10 9 14 6 1
BEIW BRI &H 7 3 1 0 4 3 7 2 1 3 2 2 8 2 0
BR)IH R H 2 1 3 1 1 6 9 4 4 5 6 1 6 3 0
AINEET =ZAHmAREE 10 3 4 2 9 3 9 15 7 15 7 10 11 8 1
NG KEHRBE L 2— 3 2 0 1 0 0 1 0 0 0 1 0 — — —
WE™ KIFEK 0 0 0 0 0 0 0 0 0 1 0 1 2 1 0
REM RNEM&RT 1 2 1 0 5 0 5 3 0 0 2 3 4 1 0
FR™ BT IR 4 3 5 1 9 2 7 9 4 4 4 2 6 6 3
RS RIS TEFRR 10 4 5 2 9 1 10 11 5 8 6 7 5 3 2
HET R 0 2 0 0 4 0 1 0 0 0 0 0 3 1 0
PE™ PIEm & 9 5 4 1 1 0 4 0 1 2 4 1 3 1 0
MEM MEM®E 9 3 1 1 5 2 4 1 0 0 7 1 5 0 0
=A™ B A PR 2 2 4 0 8 3 5 2 2 2 1 2 4 2 1
=A™ BETmAEERt 24— 4 0 1 1 3 1 2 1 0 0 0 0 — — —
=A™ =aEBESEELIER — — — — - - - — — — — — 0 0 0
=AaT PIRZE 6 1 2 0 3 4 3 3 - - - - — — —
=% =Li) =5/ NERR 3 0 2 0 0 4 0 1 0 1 — — — — —
aaH BB /NER 7 1 5 2 7 2 12 2 1 5 0 — — — —
BHFH BHFHEA — 1 0 1 5 4 5 3 2 4 4 5 11 3 1
BEHFH EBRF RN 4 1 0 0 0 2 3 0 0 0 5 7 7 2 1
HABR™ BARERMAEREE2— 2 0 0 2 11 2 4 1 0 0 1 0 2 0 0
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FALFEA T LA VD HEFRRURRE D 1 R B AY0.12ppm L _E D B D

(Bif:H)

1 (X) BT 4t BIER% ik 6| FmR 7| Frk 8| Fm 9| FERRI10|Fm11| FEm12| Fm13| FR14| k15| Fm16| FEr17|Fm18| FEa19| Fm20
HEARR™ HARTEETE 9 1 7 3 12 2 8 1 1 6 1 3 3 0 0
RETh REHEA 1 1 1 1 5 1 1 2 0 0 1 0 1 2 1
XEHh REH&E 0 0 0 1 1 0 0 0 7 8 9 6 7 5 2
BT e 3 1 1 0 4 1 4 3 0 0 2 0 1 2 0
SEN] SENEE 4 1 4 0 9 3 2 2 1 1 2 1 3 3 0
RE H BT HEERET 115 6 5 1 1 3 0 0 0 1 0 1 0 4 4 1
W ET W T 452 35 1 1 0 1 4 1 0 0 0 0 0 1 0 0 0
W T e 3 0 0 0 4 1 1 0 0 — - - - - -
WFRET Pl 3 1 1 1 5 2 2 0 0 — — — — — —
\WER T Z&)I 5 0 0 3 3 1 0 0 0 — — - - - —
RIRX W& 0 0 0 0 0 0 - - — - - - - - —
=il RERFRE 32— 0 0 0 0 - - - - — — — - - - —
FHHET FFBEM&ER 1 0 1 0 1 0 0 0 0 0 0 — — — —
Srh S AT 2 1 0 0 0 0 2 0 0 0 0 0 0 0 0
Ll FE 2 0 0 0 0 0 — — — — — — — 0 0
IR RN 0 0 0 0 — — — — — — — — — — —
R E FF /N 1 0 0 0 — — — — — — — — — — —
EiEm EEM&R 0 0 0 0 — — — - - - - - - - —
BHFH B FHRAN 1 — — — — — — — — — — — — — —
E PN BARERHREGFERE L 2— 3 1 0 0 0 1 0 0 0 0 2 0 5 0 1
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